7. 0VO. 6AHLYERCC T
1. i e YR AL
1) Y5 B H i A\ Y ] - 85VAC—265VAC
2) iy H B R /S 3 HLIAT < VouT=7. 0V /0. 6A
3) A5 R 28 (3% X=0. 75,  PIN=Pout/X=7. 0%0. 6/0. 75=3. 5/0. 75=4. 67W
2. Vdc (min) 5Vdc (max) {415
1) BAEH AN B EVde (min) =85%1. 414-20V (HUEARSE H20V) =100 (V)
2) 55 i N\ B Vde (max) =265%1. 414=375 (V)
3. TAEMIE S B K 2
B f=50kHZ, DmaxHX 0. 45, T=1/f=20us, Ton (max) =T*Dmax=20%0. 45=9us
Toff=T-Ton=20-9=11us
4. 28 F 2R W R A IR 5 3 W R TH 5
Iavg=Pin/Vdcmin=4. 67/100=0. 0467A
Ipk=2%Pin/Vdc (min) *Dmax=2%4. 67/100%0. 45=0. 207A

5. LpH)it 5
Lp=Vdc (min) *Ton (max) /Ipk
=100%9us/0. 207A
=4, 34mH
6. 2% s 2% I 2k OV I B
R PEAwxAe=Pout*10" 6/2%Ko*Kc**Bm* j*X
Pout (A% F. 2% R brvH i H D #8) =24W
Ko (& F1 4 3H 78 & %0 =0. 4
Ke (8RO IH A R0 =1 O 8R4 A%)
Bm=1500GS
j=5A/ (mmf¥)~F77)

Ap=AwxAe=4. 5%10"6/2%0. 4%1%050000%1500%5%0. 75
=4500000/319200000
=0. 02 (cm"4)
W Ae WBREMRRLGS A RAERTEAR, AwhE DR
B R R FREE-1 38 AR IR S
Ap=Aw*Ae=
7. NpHJTHH

Np=(Lp (uH) *Ipk (A) *100/Ae (CM"2)*@B)
=[4. 34mH%1000%0. 207A*100/0. 171 (CM"2) *3000] ( Hy
@B=3000 )
=175(T)
8. IR 2 Bl $iNs
Ns=[ (Vo+VF) /VF1y]#Np (EBXVE=0. 5% HL %)



=[(7.5+0.5)/100]*175
=0. 08*%175
=14 (T)

9. Wi FIMOSHE (=R
MOSHE (=) Wit E: V d s = Vdc (max) + (VosNp/Ns) +Vig &
Vi i E50V)
=375+ (7. 5%175/14) +50
=375+93+50
=518
% F IRFBC20-MOS : HLIR2. 5A, Tif K600V
i s 7E550V T, VE1yKI{E=550-50-375=125V
10. FiENs=[ (Vo+Vf) /Vf1ly]*Np
=[(7.5+0. 5) /125]*175
=11.2
=11(T)
11. i} % Dmax
HI B B T A4S 405 S1=S2. (1)
S1=Vdc (min) *Ton (2)
S2=Vf1ly*Toff (3)
#E) RN, ) XPE;
Vdc (min) *Ton=Vf1y*Toff
100%Ton=125*%Toff
Ton=1. 25Toff
Dmax=Ton/Ton+Toff=1. 25Toff/2. 25Tof f=0. 56

12. A Ip M

LEF=50KHZAZE II1E UL T, Ton=T*Dmax=20us*0. 56=11. 2us

Ip=Iavg*2/Dmax=0. 0467%2/0. 56=0. 168 (A)
13. Bt HELpHIME
Lp=Vdc (min) *Ton/Ip=100%11. 2us/0. 168 (A) =6. 67 (mH)
14. 115 Np
Np=(Lp (uH) *Ipk (A) %*100/Ae (CM"2)*@B
=6. 67+ (10" 3) *0. 168A%100/0. 1713000
=218(T)
15. FFiH5HNs
Ns=[ (Vo+Vf) /Vfly]*218=[ (7. 5+0. 55) /125]%218=14(T)
16. NbAt B & i - 85

Nb=[Vb (max) /Vdc (max) ]*Np [Vb (max) SHMOSHE FIGHIF A} v, s, 763X

HEY25V]



=[25/375]1%218
=0. 067%218
=14(T)
VdCminHVb=(22/Np) *VDCmin=(14/218) *100=6. 5V

(1825 2= OSE
Lp=6. 67Mh
Np=218T
Ns=14T
Nb=14T



